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(2) y o« x . Find the constant of proportionality and
complete the table below.

X 20 100 500 X 20 100 500
y 20 50 y 20 50

(3) y varies with x. Complete the table below (3) y varies with x. Complete the table below

X 100 200 X 100 200
y 30 60 300 y 30 60 300

(4) y is directly proportional to x. When y is 8, X is 2.
Find y when x is 3 and find x when y is 20.

(5)soct. Whens is 3, tis 24. Find s when t is 50 and
find t when s is 90.

(6) y is directly proportional to x2. Wheny is 8, X is 2.

Find y when x is 3 and find x when y is 72

(7)y oc /X . y is 10 when x is 4. Find the constant of

proportionality. Now find y when x is 100 and find x
when vy is 30

(8) The cost of a rug is directly proportional to the
size of the rug. (a) Write a basic formula connecting
the 2. When the rug is 2m2 the cost is £100. (b) Find
the value of k in your equation. (c) Find the cost of a
rug that is 8m2 and find the size of a rug that costs
£500.
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